
 
 

 
 



 
 
 
 

 
 



 
 

 
 
 



 
 

 
 



 
 

 
 



 
 

 
 



 
 

 



 

Identification of Implementation Lean, Agile, Resilient and Green (LARG) Approach 

in Indonesia Automotive Industry 

 

In this paper, the author used the LARG to analyze the implementation in Indonesia 

automotive industry, and carried out IPA to analyze the importance and performance 

of each LARG sub-indicator. The paper’s content is complete, and it’s practical value 

is considerable. But here are some review opinions, please revise. 

1. There are too many key words. Here, as mentioned in the paper, the abbreviation of 

the words Lean, Agile, Resilient and Green is LARG. Give the abbreviation in key 

words is enough. 

2. The approach of Lean, Agile, Resilient and Green presented by author are all 

conventional analysis methods. Have you make a research or discussion considering 

the actual existing problems in Indonesia Automotive industry. 

3. In the 2.2-Calculation of LARG Index, the item-Each sub-indicator was assessed 

using the Likert scale 1-5 where, 1 indicates “behavior is not implemented and 5 means 

“behavior is completely implemented”, was mentioned several times in the paper. There 

is no need to repeat this sentences. “Condition 1” or “Situation 1” can be used instead 

of it. 

4. In formula (3), wx is the weight of paradigm. The weight is calculated by considering 

the proportion and importance of each value, while the numerator and denominator of 

Formula (3) are both the average values. How to explain it here? 

5. In this paper, IPA is used to analyze the importance of parameters. Then, how to 

determine the division standard or threshold value here? And the vertical (Y) is the 

importance, which is used to analyze from Y or comprehensive consideration? 

6. “The LARG indicators and its sub-indicators were selected by considering the effect 

on the condition of were 40 indicators used in the assessment of LARG issue in the 

industry”. In Indonesia Automotive Industry, how to judge the importance of these 40 

indicators? How is the tolerance of the results calculated by formula (2) considered? 

7. In the Table 2, the total average value given by the experts is 4.54. In the sample 

survey analysis in Indonesia automotive industry, the total average value of Table 4 is 

4.545, which is higher than the average value given by the experts. As can be seen from 

Table 5, the performance of the Lean behavior and Resilient behavior is higher than 

importance. How do you consider it here? 

8. In Figure 2, “In lean indicators, the sub-indicators to be improved was PL2 (Reduce 

lot Size) located in Quadrant II”. Some values appeared at the boundary, such as PL7 

in Figure 2, PL7 and PL2 in Figure 4. The emergence of these information also 

represents a certain meaning, and has a subtle influence on the Indonesia automotive 

industry. These information also can be discussed in the paper. 

9. The quality of Figure 2-4 is too poor. Please change to clear figures. Any word, 

number, shape and symbol on figures must be discernible when the page zoom level 

stands at 120%. We suggest that you use one of the following Open Type fonts: Times 

New Roman, Helvetica, Arial, Cambria, and Symbol, when preparing your figures. 

 






